Notes on Number Theory and Discrete Mathematics Print ISSN 1310–5132, Online ISSN 2367–8275 Vol. 24, 2018, No. 2, 85–89 DOI: 10.7546/nntdm.2018.24.2.85-89

Relationships between Fibonacci-type sequences and Golden-type ratios

R. Patrick Vernon

Department of Mathematics, Xavier University of Louisiana 1 Drexel Drive, New Orleans, LA, USA 70124 e-mail: rvernon@xula.edu

Received: 6 December 2017 Revised: 13 March 2018 Accepted: 1 May 2018

Abstract: The classical Fibonacci sequence is defined so that the first two terms are each equal to 1, and each term after this is the sum of the two terms immediately before it. The golden ratio is the ratio of the longer to shorter side of a rectangle with the property that if we remove a square from the rectangle such that the remainder is also a rectangle, that the old and new rectangles are proportional. Johannes Kepler showed that if we take the sequence of ratios of consecutive Fibonacci numbers, the limit of this sequence is the golden ratio [5]. In this paper, we give a higher dimension extension of Fibonacci sequences and golden ratios and provide a connection between the two.

Keywords: Fibonacci sequence, Golden ratio.

2010 Mathematics Subject Classification: 11B39.

1 Fibonacci-type sequences

Let $m \in \mathbb{Z}^+$ such that $m \ge 2$, and let $k \in \mathbb{Z}^+$ such that $1 \le k < m$. Let $a_1 = \cdots = a_m = 1$, and for each $i \in \mathbb{Z}^+$ such that i > m, let $a_i = a_{i-k} + a_{i-m}$. We will refer to this sequence as an *m*-dimensional Fibonnaci-type sequence with index k.

Lemma 1.1. *Every Fibonacci-type sequence is non-decreasing.*

Proof. If $i \leq m$, then $a_i = a_{i-1} = 1$, so the lemma is true for the first m terms. Now let i > m, and suppose $a_j \geq a_{j-1}$ for all $j \leq i$. Then

$$a_{i+1} = a_{i-k+1} + a_{i-m+1}$$
$$\geq a_{i-k} + a_{i-m}$$
$$= a_i.$$

Hence the proof.

Let $\{a_i\}$ be a Fibonacci-type sequence. For each $i \in \mathbb{Z}^+$, let $R_i = \frac{a_{i+1}}{a_i}$. From a result by Szczyrba in [4], the sequence $\{R_i\}$ will have a limit if the greatest common divisor of k and m is 1. If the limit exists, we will call it the ratio limit of the sequence and denote it R.

Theorem 1.2. If the ratio limit R of a Fibonacci-type sequence exists, then it is the unique solution to the equation $x^m - x^{m-k} - 1 = 0$ on the interval $(1, \infty)$.

Proof. Suppose R exists. Then the following is true.

$$\begin{aligned} a_{i+1} &= a_{i-m+1} + a_{i-k+1} \\ \frac{a_{i+1}}{a_i} &= \frac{a_{i-m+1}}{a_i} + \frac{a_{i-k+1}}{a_i} \\ \frac{a_{i+1}}{a_i} &= \frac{a_{i-m+1}}{a_{i-m+2}} \cdots \frac{a_{i-1}}{a_i} + \frac{a_{i-k+1}}{a_{i-k+2}} \cdots \frac{a_{i-1}}{a_i} \\ R_i &= \frac{1}{R_{i-m+1}} \cdots \frac{1}{R_{i-1}} + \frac{1}{R_{i-k+1}} \cdots \frac{1}{R_{i-1}} \\ R &= \frac{1}{R^{m-1}} + \frac{1}{R^{k-1}} \\ R^m &= 1 + R^{m-k} \\ R^m - R^{m-k} - 1 &= 0. \end{aligned}$$

Next, we wish to show that there is only one solution to the above equation that could be the ratio limit. Since $a_i \ge a_{i-1}$ for all *i*, we know that $R \ge 1$. Let $f(x) = x^m - x^{m-k} - 1$. Note that $f(1) = -1 \ne 0$, so R > 1. Next, consider the derivative of f:

$$f'(x) = mx^{m-1} - (m-k)x^{m-k-1}$$

= $x^{m-k-1}(mx^k - (m-k)).$

Then f'(x) = 0 only when x = 0 < 1 or $x^k = \frac{m-k}{m} < 1$. So f is one-to-one on the interval $(1, \infty)$, and thus the value of R is unique.

If m = 2 and k = 1, then this Fibonacci-type sequence is the standard Fibonacci sequence. There are also two Fibonacci-type sequences in dimension 3, which are known as the Narayana's cows sequence and the Padovan sequence. The Padovan sequence has a ratio limit that is referred to as the plastic number [3]. For a given dimension m, if k = m - 1, we obtain ratio limits that Marohnić and Strmečki have defined as harmonious numbers [2], and that Krčadinac refers to as the k-th lower Fibonacci sequence [1].

m	k	Sequence	Ratio limit
2	1	$1, 1, 2, 3, 5, 8, 13, \dots$ (Fibonacci sequence)	1.1680
3	1	$1, 1, 1, 2, 3, 4, 6, 9, 13, 19, \dots$ (Narayana's cows sequence)	1.4655
3	2	$1, 1, 1, 2, 2, 3, 4, 5, 7, 9, \dots$ (Padovan sequence)	1.3247
4	1	$1, 1, 1, 1, 2, 3, 4, 5, 7, 10, 14, 19, \dots$	1.3802
4	2	$1, 1, 1, 1, 2, 2, 3, 3, 5, 5, 8, 8, \dots$	none
4	3	$1, 1, 1, 1, 2, 2, 2, 3, 4, 4, 5, 7, 8, \dots$	1.2207

2 Square base extensions and Fibonacci-type sequences

Define a box A in \mathbb{R}^m as a product $\prod_{i=1}^m [0, s_i]$, where s_i is a positive real number for each *i*. Each s_i will be called a side length of A.

Define a square base extension B of A in dimension j and index k, denoted $E_{j,k}(A)$, as the product $\prod_{i=1}^{m} [c_i, d_i]$, where $[c_j, d_j] = [s_j, s_j + s_k]$ and $[c_i, d_i] = [0, s_i]$ if $i \neq j$. Notice that the projection of B onto its j-th and k-th coordinates gives a square of side length s_k . Moreover, $A \cup B$ is a box in \mathbb{R}^m .

Let $A_1 = [0, 1]^m$ and let $a_1 = \cdots = a_m = 1$ denote the side lengths of A_1 . For each $i \in \mathbb{Z}^+$, let B_i be the square base extension of A_i in dimension $((i - 1) \mod m) + 1$ with index $((m - k + i - 1) \mod m) + 1$. Let $A_{i+1} = A_i \cup B_i$, and let $a_i + m$ be the new side length of A_{i+1} (the side length in the $(((i - 1) \mod m) + 1)$ -th dimension). Then $a_n = a_{n-m} + a_{n-k}$, with the first *m* terms equal to 1, so this is an *m*-dimensional Fibonacci-type sequence of index *k*.

The following corollary is a result of our choices of index in each step and the result of Lemma 1.1.

Corollary 2.1. In each step of the process that defines the sequence of boxes $\{A_i\}$, we have:

- 1. The side being extended is the shortest side,
- 2. The side is being extended by the length of the k-th longest side, and
- 3. The newly extended side is the longest side.



Figure 1. The Narayana (left) and Padovan (right) sequences, represented using square base extensions

3 Square base reductions and Golden-type ratios

Let A be a box in \mathbb{R}^m . If $s_j > s_k$, define a square base reduction B of A in dimension j with index k, denoted $R_{j,k}(A)$, as the product $\prod_{i=1}^m [c_i, d_i]$, where $[c_j, d_j] = [s_j - s_k, s_j]$ and $[c_i, d_i] = [0, s_i]$ if $i \neq j$. Note that the projection of B onto its j-th and k-th coordinates is a square, and also note that $\overline{A - B}$ is a box in \mathbb{R}^n .

Let $A = \prod_{i=1}^{m} [0, b_i]$ be a box in \mathbb{R}^m such that $b_i < b_{i+1}$ for each i in $1, \ldots, m-1$, and $b_1 = 1$. Let B be the square base reduction with dimension m and index m - k, and let $A' = \overline{A - B}$. Then $A' = \prod_{i=1}^{m} [0, r_i]$ for some $r_1, \ldots, r_m > 0$. Suppose A' is proportional to B. That is, there exists a bijection h on $\{1, \ldots, m\}$ and b > 0 such that $b_i = b \cdot r_{h(i)}$ for each i in $1, \ldots, m$. Define the m-dimensional golden-type ratio with index k to be this proportion b. Note that A and A' have all sides lengths equal with one exception: b_m is present only in A, and $b_m - b_{m-k}$ is only a length of A'. Moreover, $b_m - b_{m-k}$ must be the shortest side of A'; otherwise 1 would be the shortest side of both boxes and so c must equal 1, a contradiction. Listing both sets of sides in decreasing order, we have the following:

b_m	b_{m-1}	•••	b_3	b_2	$b_1(=1)$
b_{m-1}	b_{m-2}	•••	b_2	$b_1(=1)$	$b_m - b_{m-k}$

 $b_{m-1} \mid b_{m-2} \mid \cdots \mid b_2 \mid b_1(=1) \mid b_m - b_{m-k} \mid$ Then $\frac{b_{i+1}}{b_i} = b$ for any i in $1, \ldots, m-1$. In particular, $b_2 = b$ since $b_1 = 1$.

Lemma 3.1. For the terms defined above, $b_i = b^{i-1}$ for each i in $1, \ldots, m-1$.

Proof. Note that $b_1 = 1 = b^0$. Now let i > 1 and suppose that for each $j \le i$ we have $b_j = b^{j-1}$. Then

$$\begin{array}{rcl} \frac{b_{i+1}}{b_i} & = & \frac{b_i}{b_{i-1}} \\ \frac{b_{i+1}}{b^{i-1}} & = & \frac{b^{i-1}}{b^{i-2}} \\ b_{i+1} & = & b^i. \end{array}$$

So each dimension of A is a power of b.

Theorem 3.2. The *m*-dimensional golden-type ratio with index *k* is equal to the ratio limit of the *m*-dimensional Fibonacci-type sequence with index *k*, when the ratio limit exists.

Proof. To find the value of b, we use the last two columns of the table above.

$$\frac{b_2}{b_1} = \frac{b_1}{b_m - b_{m-k}}$$
$$\frac{b}{1} = \frac{1}{b^{m-1} - b^{m-k-1}}$$
$$b^m - b^{m-k} = 1$$
$$b^m - b^{m-k} - 1 = 0.$$

Since the terms were listed in descending order, we know that b > 1. This is the same equation we used to solve for R previously, so the solution is the same as that of R (and is thus unique). \Box



Figure 2. The ratio limits of the Narayana (left) and Padovan (right) sequences, represented using square base reduction

References

- [1] Krčadinac, V. (2006) A new generalization of the golden ratio, *Fibonacci Quarterly*, 44 (4), 335–340.
- [2] Marohnić, L., & Strmečki, T. (2012) Plastic Number: Construction and Applications, *Advanced Research in Scientific Areas*, 1 (1), 1523–1528.
- [3] Stewart, I. (1996) Tales of a Neglected Number, *Scientific American*, 274 (6), 93.
- [4] Szczyrba, I. (2016) On the Existence of Ratio Limits of Weighted n-generalized Fibonacci Sequences with Arbitrary Initial Conditions, arXiv:1604.02361 [math.NT].
- [5] Tattersall, J. J. (2005) *Elementary number theory in nine chapters*. (2nd ed.) Cambridge University Press. p. 28.